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QUESTION 1

A system administrator has a large amount of inactive data on the company\\'s storage devices. The excess amount of
data is causing slow access to the active data. The administrator needs to set up automatic relocation of data so that
data expires based on age.

How can the administrator set the threshold for automatic relocation of data?

A. use SmartMove

B. use SmartTier

C. use Virtual Data Aging Service (VDAS)

D. use Intelligent Storage Provisioning (ISP)

Correct Answer: B

QUESTION 2

Which set of configuration choices will best help reduce the volume of messages that need to be processed by the
filtering engine?

A. enabling SMTP traffic shaping, rejecting Zombie connections in Sender Groups, configuring invalid recipient
configuration

B. deleting all spam messages, deleting all virus attachments, configuring sender authentication

C. enabling LDAP authentication, quarantining all spam and suspected spam, and increasing concurrent MTA
connections

D. controlling maximum attachment sizes, setting a lower recursion limit for ZIP files, enabling bad message handling

Correct Answer: A

QUESTION 3

An administrator is unable to receive output from vxprint, vxdisk list, or other reporting commands but does have access
to volumes and file system data.

What is the likely cause of this problem?
A. vxconfigd has stopped running.

B. vxdctl has stopped running.

C. A disk has failed.

D. The disk.info file is corrupt.

Correct Answer: C
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QUESTION 4

Which command is used to grow a Veritas File System (VxFS)?

A. fsmigadm
B. fsadm

C. fsppadm

D. vxfsconvert

Correct Answer: B

QUESTION 5

What does migrating from thick to thin LUNs involve?
A. array-level mirroring

B. attaching a plex

C. creating volume snapshots

D. encapsulation

Correct Answer: B
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